= |EE3
~
y = eco
@j PASS

PORT. - hager

Product Environmental Profile
Centre plate socket 2P+E contact protection black

Company information References covered

Hager WL6223, WL6222, WL6220
132 Boulevard d’Europe

F 67215 Obernai Cedex

www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Cover plate for domestic socket devices
WL6223

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
product.

Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others

o] % g % %
PC 12.55 50.0% Stainless steel 1.06 4.2% Cardboard 8.33 33.2%
O PP 1.00 4.0% Calcium 0.02 <0.1% Wood 0.59 2.3%
PBT 0.44 1.8% Zinc 0.00 <0.1% Cardboard 0.47 1.9%
PE-LD 0.12 0.5% Silicon 0.00 <0.1% Other 0.16 0.6%
Epoxy resin 0.11 0.4% Titanium dioxide 0.09 0.4%
Polyester resin 0.11 0.4% Other 0.06 0.2%

Total mass of reference product with raw material 25099

packaging :

Total mass of reference product 2341

(Product + packaging)

PEP ecopassport 1/5 HAGE-01336-V01.01-EN



System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation End of life Module D

=3
£
= © 0
S 4]
< 2 = 20 =
5 2 1< 1< = £ o 29 8
. = =
2 & S S S 3 3 = @ > s o
go|s o o ® c® ST %) b € £3 B
£ c c =5 S5 g g = c £8 28 s o o2 S8
S < = c 3 c o T 2 c Q o o8 ca = = E n < T =
° 8| E 2 So S o S £ & 5 = 2 EB 2% 8 5 S @ 2 E
TS | o 8 S5 55 535 g =1 3 5 So o ] a9 | 25 2 < 3
=9 | £ 8 a © 8o Q3 L 5] 3 =) = 0 (] D a = 5 > Z o 2
gal3| 2 =g 58 °3 s @ = g 23 | 23 = gz | 28| & £
T 5 = IS 7] 7] 5 2 [ T o T o T S = e 5
EE | g ag 23 °s = 2 o 22 o2 8 = g¢ 2o
> = - o =
2 2 ) ) 0 2 o o) = = Q oo
T %) < < D= = = [0} © 0 c
14 c = = 2 ] £ o 3 <]
IS = o >
< I (=} 3
[ i ksl
P
5]

=K] B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations. In particular,
certification 1SO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production The used packaging is 100% recyclable or recoverable.
offcuts and their end-of-life treatment, upstream transport of materials and sub- Packaging and logistic flows are continuously improved in order to reduce their impact.
assemblies to the manufacturing site, and transport from the manufacturing site to the
final logistics platform. This phase taken into account the transport of the finished product, including packaging,

to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 0% 0 0% 0 100%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 28%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.2.5-3 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturin Distribution Installation End Of Life

o] A4 A5 C1-C4
Europe - Europe Europe Europe

PEP ecopassport 2/5 HAGE-01336-V01.01-EN



Environmental impact indicators

Indicators
Acidification (PEF-AP)
Climate change - Total (PEF-GWP)

Climate change-Biogenic (PEF-GWPb)

Climate change-Fossil (PEF-GWPf)

Climate change-Land use and land use
change (PEF-GWPIu)

Ecotoxicity, freshwater (PEF-CTUe)
EF-particulate Matter (PEF-PM)

Eutrophication, freshwater (PEF-Epf)

Eutrophication, marine (PEF-Epm)

Eutrophication, terrestrial (PEF-Ept)
Human toxicity, cancer (PEF-CTUh-c)

Human toxicity, -cancer (PEF-CTUh-nc)

lonising radiation, human health (PEF-IR)
use (PEF-LU)

Ozone depletion (PEF-ODP)

Photochemical ozone formation - human
health (PEF-POCP)

Resource use, fossils (PEF-ADPf)

Resource use, minerals and metals
(PEF-ADPe)

Water use (PEF-WU)

Resource use indicators

Indicators

Net use of fresh water

Total primary energy

Total non renewable primary energy

Total renewable primary energy

Non renewable primary energy used as
energy

Non renewable primary energy used as raw
material

Use of non renewable secondary fuels

Renewable primary energy used as energy

Renewable primary energy used as raw|
material

Use of renewable secondary fuels

Use of secondary material

PEP ecopassport

Unit

mole H+ eq.

kg CO2 eq

kg CO2 eq.

kg CO2 eq.

kg CO2 eq
Ue

diseases

kg P eq.

kg N eq.

mole of N eq.

CTUh

CTUh

kg Bq U235 e

No dimensi

kg CFC-11 eq.

kg of NMVOC eq.

M
kg Sb eq

Unit

m3

Manufacturing Distribution Installation Use End Of Life

Al1-A3 A4 | A5 B1-B7 C1-C4 GlLOBAL | el
3.42E-04 2.72E-05 2.68E-05 0.00E+00 1.03E-04 4.99E-04 -3.29E-05
8.48E-02 4.29E-03 1.28E-02 0.00E+00 1.89E-02 1.21E-01 -2.77E-02
-1.13E-02 0.00E+00 2.12E-03 0.00E+00 3.63E-04 -8.82E-03 -8.52E-05
9.60E-02 4.29E-03 1.06E-02 0.00E+00 1.86E-02 1.30E-01 -2.76E-02
1.87E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.87E-05 0.00E+00
8.82E-01 2.81E-03 1.33E-01 0.00E+00 6.58E-02 1.08E+00 -1.78E-02
3.31E-09 2.21E-10 1.62E-10 0.00E+00 1.12E-09 4.82E-09 -1.11E-09
4.67E-07 1.61E-09 1.33E-07 0.00E+00 2.52E-07 8.54E-07 -7.42E-07
6.63E-05 1.28E-05 1.24E-05 0.00E+00 1.82E-05 1.10E-04 -7.33E-06
6.61E-04 1.40E-04 7.87E-05 0.00E+00 2.06E-04 1.09E-03 -9.11E-05
5.47E-09 7.55E-14 1.01E-09 0.00E+00 9.14E-12 6.49E-09 -2.41E-11
7.23E-10 1.46E-12 3.01E-11 0.00E+00 1.51E-10 9.06E-10 -1.21E-10
8.15E-02 1.05E-05 1.60E-03 0.00E+00 9.46E-04 8.41E-02 -1.86E-04
5.30E-02 0.00E+00 2.43E-05 0.00E+00 3.42E-02 8.73E-02 -1.73E+00
6.27E-09 6.59E-12 1.21E-10 0.00E+00 2.31E-09 8.70E-09 -4.47E-10
2.70E-04 3.53E-05 1.83E-05 0.00E+00 6.36E-05 3.87E-04 -2.78E-05
2.05E+00 6.00E-02 9.17E-02 0.00E+00 2.93E-01 2.50E+00 -6.65E-02
7.04E-07 1.69E-10 2.34E-10 0.00E+00 1.44E-07 8.49E-07 -3.53E-08
3.44E-02 1.63E-05 8.09E-04 0.00E+00 3.12E+00 3.16E+00 -1.03E+00

Manufacturing Distribution Installation Use End Of Life

AL-A3 A4 | A5 B1-B7 c1-ca eloAL | L)
8.01E-04 3.80E-07 1.88E-05 0.00E+00 8.59E-02 8.67E-02 -2.69E-02
2.17E+00 6.00E-02 1.04E-01 0.00E+00 3.09E-01 2.64E+00 -3.20E-01
2.05E+00 6.00E-02 9.17E-02 0.00E+00 2.93E-01 2.50E+00 -6.65E-02
1.16E-01 8.00E-05 1.24E-02 0.00E+00 1.57E-02 1.44E-01 -2.54E-01
1.60E+00 6.00E-02 9.17E-02 0.00E+00 2.93E-01 2.05E+00 -6.65E-02
4.51E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.51E-01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
9.64E-02 8.00E-05 1.24E-02 0.00E+00 1.57E-02 1.25E-01 -2.54E-01
1.95E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.95E-02 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
9.33E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 9.33E-03 0.00E+00

3/5 HAGE-01336-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Manufacturing |

5.31E-02

Distribution

A4
0.00E+00

Installation
A5

2.26E-04

B1-B7
0.00E+00

Ci1-c4
5.29E-21

End Of Life |

GLOBAL

5.33E-02

0.00E+00

Non hazardous waste disposed

1.06E-01

1.51E-04

4.49E-03

0.00E+00

2.48E-06

1.10E-01

0.00E+00

Radioactive waste disposed

3.83E-05

1.07E-07

5.00E-07

0.00E+00

1.77E-09

3.89E-05

0.00E+00

Output flow indicators

Indicators

A1-A3

Manufacturing |

Distribution

A4

Installation
A5

B1-B7

Ci1-c4

End Of Life |

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 1.97E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.97E-04 0.00E+00
Materials for energy recovery 2.66E-04 0.00E+00 1.13E-03 0.00E+00 0.00E+00 1.40E-03 0.00E+00
Materials for recycling 2.29E-04 0.00E+00 4.21E-04 0.00E+00 0.00E+00 6.50E-04 0.00E+00

Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

Cardboard

2.80E+01

3.78E+01

3.95E+01

8.80E-03 2.32E-05 5.85E-04 9.41E-03
Biogenic carbon content (declared unit) 2.46E-03 8.79E-06 2.31E-04 2.70E-03
Biogenic carbon content (functional unit) 2.46E-03 8.79E-06 2.31E-04 2.70E-03

ADEME APESA/RECORD EN 16485

Prod ardboard Pape ood

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte eclare 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte 0 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°:  HAGE-01336-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:  VH37

Information and reference documents: www.pep-ecopassport.org

Date of issue: 2-2025

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a

concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

HAGE-01336-V01.01-EN




Appendix

- kgl

ing

Is for recycli

Land use (PEF-LU)
erial

ication (PEF-AP) - [mole H+ eq.]
Components for re-use - [kg]
Exported energy - [MJ]
Net use of fresh water - [m:
(PEF-ADPe) - [kg Sb eq]
Total primary energy - [MJ]

hange - Total (PEF-GWP) - [kg CO2 eq.]
Mat

and use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Hazardous waste disposed - [kg]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Materials for energy recovery - [kg]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADPf) - [MJ]
Resource use, minerals and metals
Total non renewable primary energy - [MJ]
Total renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq]

Climate change-Fossil (PEF-GWPT) - [kg CO2 eq]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

Non renewable primary energy used as energy - [MJ]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
Non renewable primary energy used as raw material - [MJ]
Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

)
S
&
S
2
s
O
20
£ 93
€< WIRFPER ooco| 1vear| soeor| simar] soreos| o] rsserco| asseor] osreas| csieos] rorear| sorer] sean| oreso| sraece| ssseco| ssses| emeas| sieos| rueas| zereeo] assens| sweos| sizeos| soeod| sseos] siseos| soseor] sonecof roseor| soneeto| szseico] smeas| owoerco| voveco] sssees| arecr
<
£ 2
E WIRFPPR sico| 1osear] soseor| sisear] soreos| o] sosewco| areor] rmeas| raseos] rorear| surer] sueon| sworso| swce]| ssseco| sseos| ceas| sseor] rmeas| zooeeoo] asens| soeos| asseos| asseod| csoecs] siseos| soseor] susercof roseor| 2useuso| 2soeroo] smeas| owoesco| ooveco] sssees| acnecr
I
= WINFEI orecor| rsocce| voseor| aoseoo| soreos| omewoo| rizeor| aceeor| soseos| soocas| soos| sorecef sareoo| rmeso| siseoe| ssoece| zsseos| 2asear]| rmeor| sweos| sweoo| aseos| saeos| aseos| seseos| sweos| siseor| voseer| vasicof roor| sozeoo| sssen| saseor| ocoeian| oooeiao| smeas| aveco
s3
§< WINFIER  soocos| coicar| oooeio| 2eteoa| oooeo| omeioo| srseca| aseeso raseos| wercas| oooesco| ooveicof sssea| amess owoeito| oooean| 2ascar| ozmcos| aeseoo| oooewco| sosera| saseso| avreos| soreon| asacas| oooeico| aesecof roesof aeseor| aemeoa| aseecs) ocoeian| oooeian| oooeso| 1000
2 (IRFLPR :oocos| 2ciccs| oooeroo| 2oecs| omerso| oooeo] irses| sszeio] rasess| socos| ooveiao| owoerco| assese] aserss oooeen| omweo| 2seor| ozmeas| seoeor| osoean| sosere] sseso| zueos| corean] asveos| oooein| sesecr| sosero] sesece| soveoe| aseeas| ocoerco| ooveico] owerco| socecs
(KPP iooco| 2oiecs| oooeroo| 2oiecs] omerso| oooeo] srses| sszeio] rasess| sorcos]| ooveiao| owoerco| assese] aserss oooeen| omweo| 2seor| ozmeas| seoeor| ocoean| sosere] sseso| zueos| sorean] asoeos| oooein| sesecr| sosero] sesece| soveoe| aseeas| ocoesco| ooveicn] owerco| sovecs
5w
g < (IRFLER coocioo| ooueeco| oooeroo| ootevco] owerso| oooeeco] ouessof oooeeoo] oonessof sooero] oovesao| osoesco] ooverco| osoesco| oocevcn] oweco| sooeeon] omesso| aooteoo] osoeran| acoeroo] ocoeran| osoeeoo] sovevon| omesoo| coveron] oumesco| sooeron) osnercof aoeeoo] oonertof aooesoo] oonevan| acoesoo| ootevco] o] ooveeco
<
2 (IRFZZR <oocioo| ooveeco| oooeroo| ootevco] owerco| oooeeco] ouesso| oooeeoo] oonessof s oovesao| osoesco] ooverco| osoesco| oocevcn] owesco| sooeeon] omesso| aoogeoo] osueran| acoeroo] ocoeran| osoeeoo] sovevon| omesoo| coveron] ouesco| sooeron) osnercof aoeoo] oonertof aooesoo] oonescn| o] ootevco] owesco| ooveeco
w220 [ [ P R N N Y I Y I Y N T N T N T Y N Y N I N Y e
s
8
32 (IRFZER coocioo| ooveeco| oooeroo| ootevco] owerso| oooeeco] ouessof oooeeoo] oonessof soeo ooverao| osoesco] ooverco| osoesco| oocevcn] oweco| sooeeon] omesso| aooteoo] osoeran| acoeroo] ocoesan| osoeeoo] sovevon| omesoo| coceron] ouerco| sooeroo) osnercof aooeeoo] oonevto] acoesoo] oonevcn| acoesoo| ootevco] oweso| ooveeco
@
(IRFZZR <oocioo| ooveeco| oooeroo| ootecco] owerco| oooeeco] ouesso| oooeeoo] oonessof s oovesao| osoesco] oovevco| osoesco| oocevcn] oweco| oooeeon] omesso| aooeeoo] oaseran| acoeroo] ocoesan| ocoeeoo] sovevon| omesoo| coveron] ouesco| sooeroo) osnercof aoeeoo] oonevtof acoesoo] oonevcn| acoesoo| ootesco] o] ooveeco
w220 [ [ P e N T Y T Y I Y N T T T N T Y N Y N I I T Y e
oS
59 (IRFPER oscoe| 1meco| sosor| soece] omero| o] ossece| 2sseor] rameas| 2oseo] ooveao| owoerco| ssaere] ssieso] smeas] sicece| oooen) omeo| ssoeor| suseas| 2oseor| oovean| zsieos] srzeon| esseos| srrees] ssrece| o] cssear| suor] 2ssear| soeor| ssrece] ocoero| ootecn] owero| sicecr
[oNe)
= (IRFEPR oscoe| 1meco| sosor| ssece] omero| ooveuo] ossece| 2sseor] romeas| 2oseo] ooveiao| owoerco| ssaere] ssieso] smeas] siece| oooen) omeo| ssoeor| suseas| 2oseor| oovean| zsieos] srzeon| esseos| srrees] ssrece| o] cssear| sueer] 2ssear| soeor| ssrece] ocoero| ooveco] owero| siecr
&
(IRFEOR oscoe| 1meco| soscor| sosece] omero| ooveuo] ossece| 2soeor] romeas| 2oseo] ooveao| owoerco| ssaere] ssieso] smeas] siece| oooen] omewo| ssoeor| cuseas| 2oseer| oovean| zsieos] srzeon| esseos| srrees] ssrece| oooein] ssear| sueer] 2ssear| soeor| ssrece] ocoero| ootecn] owero| siecr
a
E} (KPR ococos| 1oecr| 2oeor] suece] omerso| ooveuo] ssece| waseor] rareas| seseo] ooveao| owoerco| raaens] ssens| saseos] szsece| oooen] omeo| siror| osean| 2wer| oovean| zoieos| ssreso] ssseos| oovein] sssecs| o] 2uear| soreor] 2uweas| 2sseqr| ssseas| ocoero| ooveco] owero| 2useco)
s (IRFEPR -ocos| 2eco| rsseos| 2iece] omerso| ooeoo] rozece| rsiwor] soses| sscos| ooveao| owoerco] 2ss] iseso] sssean] reseco] oooein] omerco| 2seor osoerao| ssseor| oooean| ssoeso] soneos| 2sseos| voven] 2sseor| oooeio] sssece| saoeon| sssece] soseor] 2mear] oooerco| oovecn] owero| suear
(KPP ococos| 1oeco| zoeor] suece] omero| ooeuo] ssece| waseor] rareas| seseo] ooveao| owoerco| riaens] ssens| saseos] szsece| oooen] omeo| sreor| oseao| 2wer| oovean| zoieos| ssieso] ssseos| oovein] ssseos| o] 2usear| soreor] 2uwear| 2sseqr| ssseas| owoero| ooveco] owerco| 2useco

PEP ecopassport 5/5 HAGE-01336-V01.01-EN



